FgArea: [0 ]
NC11 P3-7
2025-04-09 (Day 11)




3500

3000

2500

2000

1500

1000

500

Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

:

2

=————-

arning: co

[’ EcFgro’,

"EcPltng’] is missing

25

50

75

100

125

150

—>— EcFzExp
—>é—  ECdef
—>— water_ec |

175



Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data

0. 04 -

0.02

0. 00 -

-0. 02 ~

—0. 04 ~

—o— dFVI

dFVo

day

2400

2300 -

2200

2100 -

2000

1900 ~

1800

- -
—_——

AAAAAA

fz_stock_ec

ECB*10%

vvvvvv

1ing: col ['ECC’] is missing

day

6.6 7

6.4

6.2

6.0

5.8

9.6 7

——

PHB*10%

AAAAAA

vvvvvv

Warning: col ['PHC ] is missing

day

800 -

600 -

400 ~

200

—&— DUC

day

500 ~

400 ~

300 ~

200 -

100

—&— FRV

day

0. 64

0. 62

0. 60 -

0. 58 -

0. 56

——

FRC

day
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BfiE) | GEBIETK (D) | EHE (EH/HR) | XK R
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13:40 120 70.0 (2= 1%013:40 (RFERE)
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P3-7

BfE) | GEBAK(F) | ERE(EAH/K) (XS R

01:00 120 70.0 1] BRi&@01:00 (FKFEREE)
02:00 120 70.0 1] 1R1%@02:00 (K FHfERLES)
03:00 120 70.0 1] Bi%@03:00 (FKFERSE)
04:00 120 70.0 (2= Bi%@04:00 (FKFERSE)
08:45 120 70.0 (2= 1R1%@08:45 (K FfERLES)
10:30 120 70.0 | = BRi%@10:30 (RAFERER)
12:00 120 70.0 & B1&@12:00 (KRFEREE)
13:10 120 70.0 5 Bi%@13:10 (RFEREES)
14:20 120 70.0 5 Big@14:20 (KRFHEREE)
15:45 120 70.0 = Bi%015:45 (REERSE)
23+ 1200.0 (100%) 700.0 32 3KEC: 1900.0, PH: 6.5
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P3-7

BfiE) | EBIET (FD) | EE (EH/AR) | XK R

06:40 120 80.0 5 318006 :40 (K FEREE)
07:40 120 80.0 |Z =& Bi%@07:40 (RFERSE)
08:40 120 80.0 5 Bi%@08:40 (KFERKSE)
10:45 120 80.0 5 18010:45 (RFERE)
12:20 120 80.0 5 BRig@12:20 (FKFEREE)
13:35 120 80.0 5 Bi%@13:35 (KREEHE)
15:20 120 80.0 |Z = Bi%015:20 (REERSE)
=23t| 840.0 (7% 560. 0 3EGHKEC: 1900.0, PH: 6.5

large discrepency for begining water status (130:270.0), set to 158.0 ml.
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